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SECTION—I : MATHEMATICS

1. The perimeter of the quadrilateral ABCD formed by A(-3, 1), B(0, 5), C(4, 8), D(1, 4) taken in
that order is

A(-3, 1), B(0, 5), C(4, 8), D(1, 4) e 353 fgres* dd Stadymin ABCD qog, SotpsTod

(1) 1642 (2) 25 (3) 20 @) 10

Which of the following combinations of sides and/or angles cannot form a right-angled
triangle?

&@adaﬁsnhrﬂ&' peiues® 50 dor S'nined’ 50 vow §'n Benind 06,630 Sudw

(1) 17,8, 15 (2) 1,2,45° (3) 42°,48°,5 (4) None

. In a trapezium ABCD AB | | CD, the diagonals AC and BD intersect at ‘P If AB: Cl
then area of ACPD: area of AAPB =

D =21,

ABCD 8%@ab5%é* AB | | CD 58at» AC, BD Sgyev. ‘P3¢ podod T3 AB: CD = 2: 1 sand
ACPD ., AAPB 8thudear;e d%E.

(1 1:4 (2) 2:1 (@ 1:2 ) 411
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4, Q is a point on the line BD dividing the segment internally. AB, PQ and CD are drawn
perpendicular to BD. If AB= a, PQ= b and CD = ¢, then

BD 0 Se0p By podin e QBT wosdium Mfdoid Dothh AB, PQ DB CD e BD D sovor ADS 564
dpen AB = a, PQ = b ®8din CD = ceand

(1)

It
-
0y | =

(2)

=

cl= Tl
i
Ql— 0=

£ |

13)

i

o= D=

03 | =

(4)

S.

An equilateral triangle ABC is such that the side BC is parallel to X-axis. Then the slopes of
its sides AB, BC, CA respectively are

AABC 3Sardu@thesnd’ ghedn BC X-uinsDH Siresdiom 8. @ AB, BC, CA dhmdve Sug,
Trenen S

(1) 3,0 -43 @ J3,43,43 3) 1,0,-1 [4) 43,043

6. The diagonals of a quadrilateral ABCD intersect at a point O such that AO. DO = 50 . CO
Then the quadrilateral is definitely a

ABCD 3i8ymiin dng) g83wen AO . DO = BO . CO. el Do O 3 podoHE ol & Saodyman §3,9 36—
es

(1} rhombus (2) parallelogram (3) trapezium (4)

rectangle
orouh Adross Sdnmo 33eabo

7 Sdxgo

A man is standing between two lamp posts on a horizontal line dividing the distance berween
them in the ratio 1 : 2. The height of man is 2 m. It is noticed that shadow of the man with

respect to first lamp post just touches the foot of second lamp post. If the distance between
the posts is 30 m, find the height of the first post.

2 toed D8 fio e.8 Hndyd Bod B3 Fowine Indewd fewP JpD 1:2 3386 Doy dgom Jeadma.
Oyt o HWADE Ddd B3 Jonin S ; LrhiHh 88204383 Jouin Idard B Ha0d. & fod Asjosive
So6Erto 30 e son M 83 Jowin J

(1) ‘ém (2) 5m (3) 4m (41 3m

A tangent is drawn from an external point P to a circle of 8 cm radius. If the length of the
tangent is 15 cm then the distance between the centre of the circle and pont Pis

8 D0.2, Trgingan fio 38008 P o ovry Dot o )6 Swven Aabedad. g Su e 15 2ol sand e
g0 M08 P o drgan

(1) 23 cm (2) 20 ecm (3 17em (4)° Cannot be determined
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9. ABis a chord of circle subtending an angle 90° at the center O of the circle. If the radius of
the circle 1s 6 cm, the area of the minor segment is

£€ 3F206'D AB ey ToiSin 38 3ot §%0 90°. & 3yg TA~gin 6 Ho.. v vey 8 pod ITegEn
105 ;
(1) —em’ (2) 144 cm® (3) E—SE cm’ (4) 7 cm’

10. Two concentric circles of radii 12 cm and 5 cm are drawn. A chord of bigger circle becomes
a tangent of the smaller circle, Then the length of this chord is

12 20.%. Bain 5 Do.2. Tognginenm CDAS Boch DY oS ygwen Sop. DBS" b 3o Ans) u a; BodS
3JE0E H58n sond e ey 2dP

(1) 26cm (2) 17 em (3) 13cm (4) 7ecm

11. A square of side 7 cm encloses a circle touching all its four sides. Then the area enclosed

between the square and the circle is

7 0.2, ghmin fe 18 SE6|HHn Q) Trelh heroi soddlum arHEr el S Sok. sand uﬂﬂﬁcdmﬁa

Dy Y e
(1) 21ecm? (2) 15cm’ 137 (7-n)cm? (4) 10:5cm?

12. The diameter of a sphere is equal to the height of the cone of equal volume. If rand R are the
radii of cone and sphere respectively, then ' = A= b
L8 R gy HBain Jogde i S8drmdven Sarsin. RP oo dopd JMID 3ArIdw. r, R e IO Jopd
ME.HFW' r*= 2 g i _
W 2r o X @ 4 W e, s

.Y s

13. A solid sphere of diameter 18 cm is melted and is recast into small identical cones of height
6 cm and radius of 6 cm. The number of cones formed is

lammﬂmﬁ‘ﬁﬁmﬂmﬁhu.ﬁméﬂwﬂmﬁm+m.ri&gdnﬁuiuuq;mmma%ﬁ
Foppe Sogy
(1) 24 (2) 32 13) 12 (4) 18

log of dimensions 6 cm, 8 cm, 10 cm, a right circular cone and cylinder of
F‘rou:: ab;::u:i:::ugr 6 cm and equal height 7 cm are formed. The quantity of wood lost in

1,

this process is
6202, 8 Doto., m:m.!n.,rumﬂu-.-l‘l'd:‘o;dmﬂmﬁhu.h.,rimmw?m"mﬁu“lm
So0mrl. s 35BS Siidron Faby dofl WiI30rao .
Eres doqad O Apreom 12
(1) 226 ¢cc (2) 250c¢c (3) 175 ce (4) 300 cc (=
=
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15.

16.

17.

18.

19.

sin 30°sec 60° + cos 30°cosec60° _
sec45°cot45°cosec45”

(1) 2 (2) 1

(3 V3 (4) J6

BC is a tower, B is its base. A is a point on a horizontal line passing through B, the angle of
elevation of C from A is 60°. From another point D on AB, the angle of elevation is found ta be
30°, then BD =

B avdsnm fo Jondn BC. B foa 24db 683808y 208 A 0 Do 0 Cdlns def o §'maw 60°. AB 8y
MMMBMDMC@!thSE'EMED* wows BD =

1 1
(1) 2AB (2) EﬁE (3) 3AB (4) EAE
i A, B and c are angles in a triangle then

A+B c B+C A C+A B
tan tan— — —

( 2 } n2+tan( 2 ]tanzﬂan[ 5 ]tzfu'l2
ﬁBCwHLBﬁmMﬂ?munuﬂtﬂﬂ[ﬂgﬂ}tan%+tm[ﬂéc]tanﬂ+tan(c+ﬂjtan§=
(1) 0 (2) 1 (3) 2 (4} 3
The value of (1+cos x)(1 + cot® x)(1-cos x) =
(1 -1 (2) 1 [3) cosx (4] sinx
J1+sinlil +J1-sinﬂ -

1-sin® V1+sin®
(1) 2sect

(2) secB+tanp
(3) cos@-coth (4) 2tan®

The length, breadth and height of a room

are 10 m, d 10 ively. .
?nglc of elevation of a top corner of roo iBiam i b o e s
-]

m from any point on a diagonal of the base of the room

e KB ndD, ey DoBethn 2y S 10 by, 1042 2., 10 B, sand & 1860 gl o D Shan Buden od
05 KB D G A8, Mg < St

1) 4s° ,
(1) (2) 60 3 3o0* (4) None
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4 -
21. Ifcos O-sin" (- = then g =

. |
cos' 0 -sin' 0 - 2 eans () -

(1) 30° (2 60° (3) as° (4) None
22. A solution of 2cos® x-3cosy +1 = 0 is

2cos” X~ 3cos x +1=0 dlng s

(1) 45° (2) 60° (3) 30° (4) None

23. If a dice is thrown twice, then the number of sample events is
L8 DLDH Bods Ath & 8o b-a‘)m:ﬁana-m:%
H 6 (2) 12 (3) 24 (4] 36

24, A circular area is marked on a rectangular patch as a target for a certain game. A plaver is
declared winner if a ball thrown lands in the circular area. Then what is the wiﬁnin.g
probability for a participant given that the dimensions of rectangle are 2 m and 3 m while
the radius of circle is 0-5 m?

36185 K5oSod. BIS* Ao Fogen 2 . 8o 3 HergHBahy g Tng:in 0.5 2. g3ao@sad
oL3006" Jfin AabudiB, o8 smd podd & JHTSEY Jood' SaDADAB 839D Ddam BLdanw. savd «
anmnou-:sa

4]

11 11
2. & ¥ 79 4

@® |

28, From a well-shuffled pack of cards, the probability of drawing a red-coloured ace is

83 08 B¢ 508 Wmﬂmmmmmmi

1 ¥ 3
) 13 A3 36 4

b | =

(1)
S —

|
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26.

L

27.

28.

29.

|Jx con % L] —f w i :l'c.“ IIFJ il

. @it alrd
€ DB 42 Deo Gofd SoBakn 22 S Borb DAy SO, LS D5 Moo Gofh DR E 365007 E. o y
By%orm &8 Doy Baisr @8 Send Sorb eansd

8. D2 (345 2 & DG 6'DB ArdosT Hic: e Doy ol
Bygorm b & ik Deo Bofd ok Rogdyd

1 21
m 3 (2)

3 33 (4)

(ATR S
cafen

Which of the following does not represent probability of an event?
s Bod ascwds T 6" DB SowrS; i Hrdodh.

(1) 0 2) 1 (3) 1-0001 (4) 0-99999

In a frequency table of interval size h, with usual notations, the relation between the actual
mean ¥ .assumed mean a and the mean of deviations, d\is
Ao Ardfes’ 3856 sEodin 861D wodsin h DBy Mos Hgbin X, &e2rods At a BBain IR

DSuTren d o Sogolsin

{2) X=d+ah
d (4] None

FR

The set defined by A = {n /(1% n?) < 50}, where Nis the set of natural numbers, then the
mean value of elements of A is
mumq:aunmﬁﬂb:dﬂ e ALBY A=(ne I"-'f[l+n_2]-: 50) ™ D6 Do33838. wand A &9

W YAl 4
EECEWIEIE “ﬁ{w 6 g
1) 1 2) 6 3) 4 (4) 35

a) ization wants to find out the moest popular TV serial and

p conducts a survey, Whi 3
measure of central tendency is preferred for the data? y. Which 3¢

eE 303 T.V.08" 335 BBah )6 erm @2vines 220803 M8abE Joddedbsh Tdb3tnon fois Deus

(1} Mean J&|/ Mode (3} Median (4) None
mmﬁm earodidy dﬂ-ﬁiﬁﬂn D8 ey
e
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3.

3.

For the data &

(1} Median < Mean < Mode

Pl 2,9, 11, 3, 4.9 7
Eﬁs-__ﬂ:namdsnﬁuﬂ:rﬂd‘haa

e

DEMS0 < wog :’:::‘.Sa:.:q < gdrodsin

(3) Mean = Median « Mode

©os Do = DSRS0 < orvesy

rRUESy = :bcﬁ;ﬁﬂ-uf (1 :‘bﬁ;}u
Following is data from 2 child-care center find the mode of data
08 3835 alog) mrogsy
Age Group 02 |24 |46 [es s
Number of children | 5 [, |7 ! 3 11]2 2
(1) 2 (2) 7 3T 2:67 4) 35
If log, 256 + log, 81 - log, x =0, then x=
log, 256 + log, 8l-log, x=0,mand x =
() 1 (2) 0 (3) 64 (4) 512
The HCF and LCM of 48, 72 and 60 are S
48, 72, 60 © AR5 DB &340 en 3T
(1) 24, 144 (2) 12, 720 (3) "720, 12 (4) 12, 144

2)

v 13, 1, which of the following is true?

Mode < Mean « Median

S Irodsin < uﬁﬁ'd}ﬁ;-‘hﬁ < s o

(4] Mode = Median < Mean

©8 Socing Sogyi SoH S OErose egort I, IgIvesr cabliomy.,

(1) a unique way
eSe8 o

(3) any number of ways
yomem 3

2" =(0.2)Y =100, then implies

2" =(0.2) =100 oond

) 1

L

-

Ly

o

1

@ 3

(2) at least two ways

(4)

€050 Bodh Dorenm

(4]

* A composite number can be written as a product of prime numbers in

log,, 2

4 .‘1-

Dhl-\"nm m—mimam -

SPACE FOR ROUGH WORK / 8% ¥uranodeds S84

Scanned byLCamScanner




37. If -75=9a+ b where 0< b <9, a, bare unique integers, then b =
~715=9a+h, 0< b<9, a, b mh‘?:gii'r'ﬁ?maﬂuah =

(1) 3 (2) 4 (3] 5 (4) 6

38. (A-B)u(B-A)= e

_,H(Auﬂ 2 AnB (3 ¢

39. If Ais the set formed by the letters of the word ‘POSSESSIVENESS’ then n(A) =

4 (AvuB)]-AnB

POSSESSIVENESS' o eolf 56:506"0 eggines’ 16,83 5208 A wavs n (4] =

(1) 7 (2) 6 (3) 8 45

40. n(A)=8,n(B)=9,n(AnB)=6 where A and B are two sets, then n(A U B) =
n(A)=8, n(B)=9, n(An B) =6 wons$ n(Au B)=
(1) 17 () 12 (3) 11 (4) 7

41. How many subsets the set P ={a, e, I, o, u} will hav::?
P ={a, e, i, 0, u} &HHDB @S Iogiin &3 SDe Jog :'E" RS il
(1) 4 (2) 16 (3) 8 ,[5}_,-32

42,

If -1, -2 are two zeros of a polynomial 2x* + ax” + bx -2, then (a, b) =

2x" 4 ax® + bx - 2 wI0S6 A Bo Wragen -1, -2 e mand (g, b) =

(1)(1,2) 2 (5, 1) @ 3,2 4 (2,-1)

43. The roots of ?_.3:_—%:3 are

2
2::--;=3 sy Sororen

1 !
1 L, -= Ty
m L-3 (2 21 A2 -3 (4) None
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44.

V34 2Y =2V2; 3x- By = 3.3

implies X=ys=

ﬁxi-ﬁy:ﬁﬁ: ﬁx-ﬁy=3¢'§

SDESEPe rIen x = y=

1) .1, 8
(1) (2) Ve, -1 3 21

54 sgiven Ko ey BIVEHES'D thetne Soy A

(1) 27 ‘
(2) 108 (3) 54 (4) 12

If the height of the ball h f
: Tom ground at any point of time  is i =25 :
tme taken by the ball to reach the ground is SRR a0 3 e

25 bmqgaa_;mwmmaamaa 15 h:f?a.ﬁ:wrgnﬁﬂaﬂbﬂmﬁn.mﬂ'ﬂnﬁ et 8ciy
Nowogin h = 25+ 10¢ - 312 ™ asondsa. mﬁumﬁhﬁ;mﬁmm:&mnmm:n e

(1} 15 sec (2) 10 sec (3) 5 sec (4) 5/3 sec
4. If the solutions of ax+by =2 and bx+y=35 are 4, 6 then q = -

Ax +by = 2 2Baio bx +y = 5 oI 4, 6 eavda = M+ gﬂ » %

by + I€ =5

(1) il (2) g (3) '73 {41‘%3"
%, "‘s'hich of the following is a quadratic equation?

*L!nﬁa-dﬁ'agah:ﬁndns'ﬂﬂ-

) 2 -gx®—xs1=(x-2 (2) Xx*=-2x=(-x)(3-x)
\i{j-zumuqx-mxﬁ] (4) None

SPACE FOR ROUGH WORK / 98)% 8eravosnds 3831,
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49. flx)=5x"-9x’ ~3x +11x-18 18 divided by (x - 2) then the remainder 18
flx)=5x"-9x" - 3 +11v-18 D (v -2} & eefioar 3 i

1y © 2 -7 (3 7 (4 1

50. If the difference of reciprocals of ages of a boy three years ago and five years [rom now 1S

then the present age of the bov in vears is

LS wrend A S 3 AoStore Bao A AR W SROIHTE Ao S dlg, 96 e dody B8
% son 38 orend Iabidy

(1} 8 2) 6 3 4 (4 9

51. Sum of the squares of two consecutive even positive integers is 340. The numbers are
Bod S HEGS ogigo :iq;ﬂhag:&ns-m sand & Doyl
(1) 10, 12 (2) 12,16 (3) 14, 16 ﬁl, 12, 14
52. The pair of equations 2y+3y =5 and 6x+ ky =12 has no solution if k =

2% +3y=5 mﬁx+a-y=1zwmanmx-

m 3 @ 6 =<y @af 9 @) 12 '
g b A Wows= "L b
53. The roots of a quadratic equation are irrational. Then £ .o .
14 {1 o
ﬁ:ﬁhﬁuﬂwm:&uﬁmm 1, 9. o
(1} discriminant > O (2) discriminant <0 'l . i -
4\:"6 2352 >0 2agd <0 )
N _ (3} discriminant is a perfect square (4) discriminant is not a perfect square
o 2358 235
. L3 b b ki -
N 3 SPACE FOR ROUGH WORK /380 fimavodeds gdan
hkq*\y)/ .
- . t 3 o
Qxﬁ \}c}: sy yad \1‘1 = jl;\ WO x
"l- N b2 4 CAK : AN =
- I 3 1 S 4 (141 0
e & by
- "L..r ,l.‘:" e LA LT AT L

-
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54, In the series 112, 109, 106, 103, ...., which term is the first negative term?
112, 109, 106, 103 ...... Mhammaﬂmwﬁgmmmﬂa

(1) 40th (2] 3Bth (3) 36th (4) 32nd

§5. In an AP the 5th term is 24 and 12th term is 94, then the sum of first 20 terms is
mof 346 53 385w 24 HBain 123 3640 94 sand & eof 186 2w 20 Sove Andin
(1) 174 (2] 200 (3) 1350 (4) 1580

§6. If the first term of a GP is 486 and the common ratio is (1/3), the tenth term is
fors 8 2ociel 3650 486 SBain drdy D8 1/3 saws 10 336850 -

(1] 2/243 2) 1/243 (3) 2/83 (4 1/729 Ggind

Vet
57. If the points A(S, 3), B(8, 5), Clx, y) and D(7, 2] are consecutive vertices of a parallelogram
then (x, y)=
A(5, 3), B(8, 5), C(x, y) L8atn» D(7, 2) mﬁwwmﬁ;mmﬂ (x, y) =
(1) (4,0) 2] 44 (3) (10,4) (4) (4, 3) 3

sy 9% ~ = oW
58. The points Ala, 2), B(3, 1), C(-1, 3) do not form a triangle if a = -.;:\_!1-'}% ._'::U'
a 8,5 Des30 Afa, 2), B(3, 1), Cl=1, 3) v Bebe dzew Doy T adw o6
(1) 2 2 3 (B -2 (4 1 a»=b
SR

59. The midpoint of line segment joining (x, -y) and (-7, 5) is (4,6). Then x=, y=  _ 4
W

(x, - y) BBato (-7, 5) DotdHo SenPH Bo podin Bdy DobP (4, 6) vandx =, y = - _.;{_".:
(1) (-3/2,11/2) A2r 05,-7) (3) (11, 1) W s = Yy
T, % 'II..‘I"TI. M l‘n"
60. The area of the triangle formed by (-1, 2], (2, 1) and (0, 0} is LT - @
(=1, 2), (2, - 1) HBamd (0, 0) 08" 26 Bgbs Svyoyin '.._ .
(1) o (2 3 (3 1 4) 372 455
e

SPACE FOR ROUGH WORK / 280 Suravodeds 38450
1] | -

a-nd = s "

. 11 -] = |

| Ay 19

Scanned by CamScanner



SECTION—II : PHYSICS

61. The refractive index of glass with respect to air is 2. The critical angle at their interface is
™D Sdom mee 3853 rhago 2. and 308) §'mo

(1) 30° (2) 45° (3) 60° (4) 90°
62. Which among the following materials has higher refractive index?
Boss &3 86" 28,3 58435 g0 SHASA.
[/H' Diamond (2) Kerosene (3) Canada balsam (4) Air
aol E5'A5 B3 Ereyo )
63. On which of the following factors does the focal length of lens depend?
o8 rds SWE T Ergodto BAD eprdidhdod
(1) Size of the object (2) Power of the light source
33y 384rmo 5%08 eds g 0
(3) Wavelength of the light (4) Surrounding medium
08 860134 s 3836 cirisso
64. A convex lens forms a virtual image when the object is placed between focus and optic
centre. The size of the image as compared to the object is
S0 THabDoto Bakn & EBoito Dy 40DIHE Logrs B S50 Dodsy 5B DowrD, Hdy K08, mHe
D6,co (38Don SBirriin 37y I83rRo8’ 2403
(1) same size (2) smaller (3) larger (4) None of these
=d 383 n0 25,8 =58 [
65. A lens having two spherical surfaces, curved inwards, is called
Bod Fowse6 deren 630 DHD Jofl &3, Sbiso
(1] concavo-convex (2) plano-convex
Durss-logred Adde-Dogreg
{3) biconvex (4] biconcave
Bogrs™d Bsdersd
66. When an object is placed at distance of Scm from a human eye, the
distance of

image is formed a
g 30PD Ir3HA fold 0l 5 M.ﬁraoﬁ'hamrbﬂgﬁalﬂhndrﬁan

(1) 2-25cm (2} 2:5em
2.25 »o.b. 2.5 Doth.
3) lem 4 Cannot form o clear vision
1 Do, DI P8l D6y
SPACE FOR ROUGH WORK /3% $mano suan aiein %
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67.

Pick the correct anawer (rom the following two statements :
oo POl i e Mod ROELS dArRso Jodt Jni'old
() Myopin s alse called near siphtednens,
PR By "0 Herre e B0 S ey ysome Srdred
(b} Hypermetropin is also ealled for siphtedness,

{!Iﬁ-n'h:}ﬂ' Ao Hedrd Arad SHHods Syon drdied

(1) Only (a) is true (2) Only (b) is true
1) Areeds Detn (13) a8 Do

(3} Both (a) and (b) are true (4) Hoth (a) and (b) are [alse
() e(b) Bodm Derd () e(b) Bodr 83,8

Il i, and i, are the angle of incidence and angle of emerpgence respectively, then at the angle
of mmimum deviation

iy Batn {; IO BT R0 O virds §'oo vand £3519303 5o 3g

1) i =i (2) 4 =24, (3) 26 =iy (4) i =i

69. The sun does not appear red during noen hours. Because

--‘-"'l-—_

. P.T.O.
POLYCET.2010/2-€ JE— . I

SBogrgan, 806* Ardapdd JEN SIwdd. dodiHn
(1) all colours reach our eye without much scattering
o, 5od Borben 308300 Jodhos Lotdd Sdiran
(2) all colours get scattered on renching the eye
o3, 5ob dorben 308300 308 Kol doran
(3) red colour only gets scattered
Il 5rob @ 30In0 odibad
(4) red colour enly does not scatler
ddopBors Tod Arpd 308300 doddy

The sum of two resistors is 6 () and their equivalent resistance when connected i parallel

is 1.5 €1, The product of the two resistances is
L8 6 ) mmwwummmwm&%mmmwm -5 () ecwd

8 Bods A6'gre ogdv
1) an 2 920 (3 750 (4 4 510

SPACE FOR ROUGH WORK / 080 faranodnds g8y
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r.'l i]
2L

6 erd) B
2 trenod)

T1.

(1) 30 (2 avy (3) 2 A (4) 2 W

72. The relation between the potential difference and current is established by the scientist

rOQand Bt 5:0a12 Deny b @it Sogy fie Sowoge, HEDos w54

(1) Ampere (2) Oernted (3) Kirchhoff (4) Ohm
aooabl um;ﬁ?&-ﬁ Eﬂ*dﬁ £5o

73. Pick the correct answer from the following two statements ;

6 208 Body 3, Sve Hr0d H0ADS Sdrgrdo Job 3Ttod

(a) Kirchhofl's junction law is based on conservation of charpe.,
B0y molid Dabibo edare D B0 w000

(b) Kirchhoil's loop law is based on conservation of energy.
fomyv erD Danhibo 3§ D0 oH38500

(1) Only (a) is true [2) Only (b) is true
(a) So@S Do (b) Sorusdo Desstns

(3) Both (a) and (b) are true (4) Both (a) and (b) are false

(a) 8 (b) Bodr Jerd (@) & (b) Bodr 83,8

74. The resistance of a wire of length 1 m and cross-sectional area | mm? i | {1. The specific
resistance is
1 2, nddh S08at 150,5" 30586 Dego 6OA3 g b D80 | Ls,,.,gﬁmamcw
(1) 10-m (2) 10*Q-m @) 107 Q-m (4 0 10.m

75. - through a peint in a circuj

5 :.ir‘::‘::::gli of 6C in flowing through Feuit for 2 minutes, The current in the

6 C de;omSdo e seasod’ w8 Do 408 2088 DodDD 2 DDsteerd 3atsdingon. e soatrodt 332 5
(1) 3A 2) BA (3) 008A 4 12A MJE
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76.

Which of the following pair of devices measure the same physical quantity?

BoB 36" e8 F'O50 A0 B 0S50 ASAr RS mob Aesaven

(1] Ammeter, voltmeter (2] Ammeter, galvanometer
uﬁ;‘ud:-. 5‘15 tacs oy o), o b

(3] Galvanometer, voltmeter (4) Ammeter, battery
Mo b, 36 Dowdd CHPTALONG T

Generally, right-hand rule is used when the velocity and magnetic field are

ErEnor, 3 38 Jabrd, I By edhimod i LIS D 836 4430 T e,

(1) independent of each other (2) at45° to each other
LET"D R0ETES eErESEIS @ 36360 459 S'mo A%
(3) parallel to each other (4] perpendicular to each other
LN EB Sdrodtion G, @ Sty Go vomom™ & Sy
Lenz law gives
Sof Dabo BID BDabER08
(1) magnitude of induced EMF (2) direction of the induced current
(588 DegSTmye weo Ay BT (588 DS B3
(3) strength of the magnetic field (4) magnetic force acting on moving charge
A force exerted on a 3 m long conductor having a current of 2 A in 0+ T magnetic induction

with an angle of 30° is
3 m.mmhsmwgmmmﬁh eodabl. 830 0.4 8 (Dn fo eabved §8 836" 307 dax
4od3Pch 30datn pedy

(1} 12N (2) 12N (3) 72N (4) 24N
80. Which among the following does not involve the principle of electromagnetic mducton?
268 86" DibsySaioimpd (PEAR OFEIEAA
1 {2) Electric generator
1 ctric molor
(1) Electric i
(3) lectric geyser (4) Induction stove
Electric
woags
ey § AnE 25
——
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81. A temperature of 273 °C in Kelvin scale is

BDM Arv306° ~273°C wdens
(1) 273K (2) 273K (3) OK (4) 273K

82. Which among the following statements on temperature is lalse?
AP Sowood s Bod s’ Hargin 83y, 7

(1} 1t determines the direction of heat flow
=0 agmm 8440 ﬂu;ﬂr'.‘gn»ﬂ

[2) It is a measure of thermal equilibrium
R ERADER0N BDaHINo

(3) It is a measure of hotness or coldness
28 dyddo do Sotiso Apand ADah 3o

}-}f Heat flows from a body at low temperature to a body at high temperature
6o DI sey AASS Mo S mnauaua.;mam::g@sh@&b@aa

83. Condensation is a change of phase rom

Arolfgdned’ wrh HB Ird,

(1) liquid to solid (2) liquid to gas
(o Aod o (B30 Mol Tralug

(3) solid to liquid (4) gas to liguid
Wodo Mol S0 Traiug ol @de

84. If T, and T, are the temperatures of the hotter and colder water samples respectively and Tis
the final temperature of their mixture, then

T, BoBain T, Jddre 34 2oBain Jed e ddtiides Lty T'es Doy 08 adpitad mand

ln Tﬁﬂ?T; lﬂl T‘hT‘}T:

@) B>T>T, 4 T>Tay
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85. A clock shows 3 K :
r 3 min. When seen through a plane mirror, the time appears to be
e8Kadirdo 3 K
| oo Ufl S P 1T ﬁr‘::mﬂﬁbﬂ ﬂ'ﬂﬂﬂﬁﬁ:&uﬁ{bmmwdﬁfdw Yo @3600n 82rne
( . ,-;: Eh5r;1n (2) 3 hr 5 min (3] 9 hr 35 min @) &b 10.min
L " 3 flon S M 9 fon 35 An 6 fion 10 Zu
o ;rnl::g]::?sgmﬁcmmn of an object of height 1 m using a spherical mirror is 1-5. The size of
1.5 w3850 SHAS 1.8 3580 66,0 ko or | . 36 2R3 590 drdsnd 06y 38on 28iree,
(1} 067 m (2) 1m {3) 1'5m (4) 2:5m
87. The type of mirrors used by Archimedes in burning ships is of
Ldod dhedtubD Hﬂ@}ﬁfﬁ TE3 Boyeren
(1] convex (2) concave (3) plane (4) Nome of these
Doavsrs s e TR
88, Which among the following is not a physical quantity? b= S
ol 3" FB5TI S RA DA 7
(1] Object distance (2) Image distance ue 1S
(3) Radius of curvature (4) Centre of curvature
36 g Jiger Soidan
89, When we sit at a camp firé, objects beyond the fire are seen swaying. The prindiple involved
in it is
5380 SD ok L6 o aw,umﬂmaaawmmqﬁwmmwm
) (2) reflection
(1) refraction <5
(3) total internal reflection & :;;teﬁﬂﬁ
Go
BoYorossITIgIRY
f the glass slab and ‘b’ is the vertical shift of an object through it, then
90, i1’ ickness O j
E:I‘E is_‘?:cmﬂal:x of the glass slab 18
ract - “wwmmwhmﬂumﬁlﬂm
L e B2 H08S giioas -b
a-b 4) a
_a_ B === M =
a
a-b
7 [B.T.O.
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SECTION—III : CHEMISTRY

921. According to Linus Pauling, the electronegativity values are based on

O3% 2ol 5o QOIS e Dot i Jevdens  egrson GLTE LTSRS

(1] ionization energy (2) electron affinity

=chAEidn i -'Jﬂﬁ::s o3

(3] Both (1) and (2) (4) bond energy

(1) SoBaiv (2) wog 43
92. The orbital with highest penetration power is
D esByendt Sanaedl g 10 3 doknos 2
(1) s 20 p (3) d 4 r
93. Mendeleefls Periodic table is based on
Dosbludgssdd  wordom sair Jabodod,
(1) atomic weight (2) atomic size
S 83,08 S 385ree
(3] atomic number (4) atomic volume
So3ren Sogy Hdra 1338400
94. Total number of elements in Newland's periodic table s
Arperiol eigs 3856' 4ol Muruse Soay
(1) 64 (2) 48 A3] 56 (4) 65

95. Element ‘A’ forms tnpositve ion and elemen; ‘g

forms
formula of the compound formed with A ang B wiy)

dinegauve ion. The chemical
| be

42) " A,B, 3 A8, i un
i S Lt
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96. ‘Sigma bond’is formed by
Ay wodo B S0

(1) end-end overls
riap {2) head-on overlap

E208 el3vio
do edddo

(3] Both (1
(1) and (2) (4) lateral overlap

(1) So8ain (2) 24 s #8yrd whdo

97. The shape of molecule with 4 bond pairs and zero lone pair is

¥ D08 JorgS mobien HHBat iy =08 Joig s eoten SDAS erwy dlng ve 8

1} tetrah .
(1) tetrahedron (2) linear (3) pyramidal (4 trigonal planar
98. The bond angle in H,O molecule is
H,O ec3é' wog5'mo
(1) 180° (2) 120° (3) 107° 48 41 104* 3y
99. Match the following :
=d S8sod.
fa) Haematite 208 fij Hgs
fb) Cinnabar ﬂihﬂ‘ﬁ () Fe,O,
fe) Homsilver 28 dosb fiii) Fe,0,
(d] Magnetite HES fiv) AgCl
(1) a@-iii, beiv, c-i, d-ii 2 welll bl oot d-)
3) a-ii. beiv, c-i, d=ifl [4)  a=ii, b, cov, d-w
i | 18 s .
B SPACE FOR ROUGH WORK / 2810 faranoseds sty
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100. Which of the following metals is least reactive?
o8;0 3o $08 o S

(1) Mg (2) Au (3) K (4) Fe
101. Heating of carbonate ore in absence of air is called

™D 8005 $5) e 34 Sawed 2D Sewdht 7

(1) calcination (2) roasting (3) smelting (4) refining

o €8m0 g0 @rioso DBgoeo

102. Electronic configuration of C in its exited state is

sda8s'C Qg JoEzS JavyHo

(1) 15’2s?2plapiap? (2) 1s'2s*2pl2p2p?

(3) 1s*2s?2pi2p!2p° —4] 1s*2s'2p!2p} 2p!

103. The first synthesized organic compound in laboratory is
mﬂrm:ngammmmm%:ahm

(1) methane (2) urea (3) acetic acid
hAS cHarBair uhdfuio
1 Cl

| |
104. The IUPAC name of CHy;—CH—CH—CH,
¢ cl
CH;—CH— CH—CH, @w% IUPAC 730

(4) ammonia

edry Dot

}u/ 2-chloro but-3-chloride (2] but-2,3.dichloride
2-56'aryS-3-£28 aryS-2-3-25%8
(3) 2, 3-dichlorobutane (4) 3.

2.3-25'6" ary @S

chlorn butfﬂ-chluﬁdr

o6 ury S 2.5%s

SPACE FOR ROUGH WORK f!'-'ﬂh'
AONoI0AS 384,

POLYCET-2019/32-C 20

Scanned by CamScanner



105. For extraction of highly reactive metal compounds from their ores, some impurities are
added during the electrolysis process. The role of impurity is

©88 Sovs f0d o &' Sy dare grabP ol 59, Soyroddsy,d 88d 36 Mk milabé’ £ BiTeD
SeUhEr M. Jotufod Hdarey

(1] to give color to the ore (2] to increase the meiting point of ore
P8 Sorhbd adran i s, BIHSS B, bodioran

(3] to increase weight of ore (4) to decrease the melting point of ore
TP dlos) BhHD Doweraw o g BDEIS 2y, SAan.

106. The organic compound with R—COO— R’ functional group is prepared from
R—CO0—pR' &3&ahy S8arro SDAS 56y Sdyuio 34 e WL AR
(1] RCOOH and R'OH (2) R'COOH and ROH
(3] RCHO and R'OH (4) R'CHO and ROH

107. The value of x in the following chemical reaction is
D3 adgnAS SR 366" x Den3 Jod ?

C,H, + x0, ——yCO, +zH,0
(1 4 (2) 3 3 6 (4) 5

108. Lead nitrate on reaction with potassium iodide gives yellow precipitate. The vellow color is

due to
uaﬁwmwﬁmmmmw. 822 s~dno
Pb(NO,);+ 2KI——PDL,; + KNO,

(1) Pb(NO,), (2) K (3) Pbl, (4) KNO,

109. One mole of H; gas contains how many molecules?

nd:ré]-[,a-:ﬂnﬂnﬂuﬂﬂﬂﬁuu‘
(1) 6-023x107
(3) 6-023x10™

(2) 2x6:023x107
(4) 6:023x10%
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N . . tion of
110. The tarnishing of silver spoon in presence of moisture 15 due to forma

dob Jod dé' G0, ovID ‘.].:hd.) 3o ol sdno

(1) AgO, (2) Ag,S (3) AgNO, (4) AgCl

111. Which of the following is an example for neutralization reaction?

208 86" dLYs8n m;_; aordn

(1) Base+Salt——s Acid + Water

oo+ Hﬂm-——puﬁgu+ N

(2)  Acid + Salt —— Base + Water
Do + udno — o + A

(3) Acid + Base— ; Salt + Water
©Do + Plo — vlno + b

(4) Base+ Water —— Acid + Salt
oo+ DD —; edo+ edmo

112. The colour of methyl orange indicator in HCJ

is
HCI &' 36 esdos 388,05 Sord
(1) pink (2) colourless (3) vellow
berd 8510 dodss Sty (4) blue
Ao
113. The chemical name of plaster of Paris is
238 &b 280 Qg SArald Do
(1) caleium sulphate monchydrate 12) cales
ci
o 3 S AT ES "‘Qﬂﬂ:r:a:: Iphate
[3) calcium sulphate dihydrate (%) calej
= “m
I‘ch:o %ﬁ - -_J:M Sulphate ]ltlﬂih}'dnug
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=2 =dc NaCl 0008 HHin enm o Sy

il R, at cathode 2) ©

, at anode
=t E %4 wn
SRS H, ey e3'E58 0, Traind
3] Q. at cathode (4) Cl, at cathode
E =
TEE350, g s5'E35Cl, ratny

11S5. Which of the following is an example of acid?

2ot i wirdl s

[1) Drv HCI (2) Aqueous HCI
23 HCl s [orSe HCI

(3] NaOH (4) NH,OH

116. The Quantum mechanical model of atom was proposed by

S s'saun drcibs rgm#ﬂ SEr8odd T
(1) Rutherford (2) Bohr (3) Schrodinger {4) Max Planck
arsB 35 o' Ll el s

117. The correct order of energies for the electromagnetic spectrum is

e
565, 8 mciimod 3550060 B s0
(1] UV rays >iRrays > Radio waves > X-rays
o800d' s Uore > Sodn o > 88dr ddoren > X-Marew

{2) . Radio waves > UV rays > X-rays > IR rays
A 8bomen > sbded'ré Voo » X-Uorw > Sodo 2orw

(3) X-rays>UVrays> IR rays > Radio waves
X-Uren > 0bS08'rs Mara > 3070 Mare > 88ar ddome

(4) IRra}fI?I-myleldiﬂmmbwmys
sordon Soeren > X-Moare > 8Adr sdomren > ©Bd0d'rd Lcrw
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118. Which of the following set of quantum numbers is not correct?
Sods adgwds 5500 Sogke Stardted” D 508

. 1
(1) ﬂ'-':-’-f=|:mr=-Lm‘=+l (2) n=2,!-—.ﬂ.m,:+1.m¥=+§
' 2
| I
B n=2t=lm=-1m = (4) n=21=0,m30,m, =-2
119. The possible [ values for a given n value are
Adewd3 n L SRS [ Denen
(1) Oto (n-1 (2) Oton (3) lton (4) ltofn-1)

120. The rule which describes the electron distribution in degenerate orbitals of an atom is
SEdrmpsD sl o8 iere S JoES 05080 305 Ao

(1) Aufbau principle, (2) Pauli exclusion principle

i,
e9f Do il -“ngaﬂtﬂ:r;hu

(3) Hund's rule (4] Planck’s theory

i I.'r‘,‘ *-'I
ﬂl}nﬁm M‘!Em ar' Illr!-}'.i_- "}\J) ¥ r 4.:1 ‘
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